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Please check that this question paper conains 15 printed pages.
Code number given on the right hand side of the question paper s
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Plepse write down the Serial Number of the question before attempting it.
15 minute time has been allotied to read this question paper. The guestion paper will be
distributed at 10.15 a.m. From 10.15 a.m. 10 10.30 a.m., the students will read the
only and will not write any answer on the answer-hook during this period,
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ral Instractions :

(i) Al guestions are compulsory.

. ' sytions

(ii) SectionA : Q- 1o 1 10 5 are very short-answer guestic
swer qufsﬂr)rr.'i

o 610 12 ure short-an

(ifi) Section B: Q. n
24 are also §

(iv) Section € : Q. no: 13 10

each.
: . ¥
(v) Section D : Q. no: 25 to 27 are long answer quiestions and ¢arty

(vi) There isno averall choice. However, ar internd
ne mark, ivo questions of two ma rks,

of five marks weightage:

hort-answer iq

questions of 0
and all the threg questons
of the choices in such questions.

(vii) Uselog tables if necessary. Use of calewlators is not allowed.
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Why are medicines more effective in colloidal state ?
OR
What is difference between an emulsion and agel 7

/ﬁﬂhﬁﬂﬁaﬁﬁamﬁu@mﬂmﬁmm

(C;H N, CHaNH,, (CHNH
Arrange the following in increasing order of base strength in gas phase :

DuN, CHNH,, (CHONH

' mﬁmmﬂwﬁth

_%y,-mmﬁ-ﬁ'ﬂm"mmm doping with phosphorus ?

i”‘ z

and carry 1 mark each
and carry 2 marks each,

uestions and carry 3 marks

5 marks each,

1 choice has been provided in twg
four questions of three marks

You have to artempt only one
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What is the basic structural difference hetween ghicose and fructose P

OR
Write the products obtained after hydrolysis of lactose

oo, 2hfives @ sd g o0 . Tl -

i
S05H
Wiite IUPAC name of the given compound :
Ci
50,H
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SECTION: B
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KMnO,-KOH ,  HO'
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(1) H0,+T = H,0 + 10 (W)

@) HO0,+10° - H0+T +0, @)

G 3P % fom i Fram forfam |

(i) sl ) 5w iz fafan | b

(i) WG (1) N (2) & & =\ ve 3 At agd 2
Fer a reaction

= I ;
ZHzo-z_El]m e e 2H,0+0,

'thc;pmms&d mechanism i$ as given below ;

() HO,+I" = H,0 + 10 (slow)

(2) H0;+10° > H.0+1" + 0, (fast)

i) 'Write rate law for the reaction,

() Write the overall order of reaction,

G Outof stps (1) and (2, whic one i rate deeinng e

AT e i st e & e 2 st |
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When MnO, is fused with KOH in the presence of KNO, s an oxj disin 2

gives a dark green compound (A). Compound (A) disproportionates jn 'dE i
to give purple compound (B). An alkaline solution of compound (B ?I' J;:ﬂluunn
compound (C) whereas an acidified solution of eompound (BY oxidis " Kl s Kl to
Identify (A), (B), (C), and (D). SR oy

10, ®FE (Cr(NH,),Cl,1* F1 [UPAC 71 fRftae | 37 55t  wafiveia st ) et

T atfiga i | :
ST

TUPAC Teve] 1 3vam #a we feferfias & g fofau

() URREiEERE-O- () TS
(i) iR iR A
Write [IUPAC name of the complex [Cr(NH,),CL]*. Draw structures of geometrical
isomers for this complex.
OR -
Using IUPAC norms write the formulae for the following :
_Ai) Pentaamminenitrito-O-cobalt(Ill) chloride
(ii)~ Potassium tetracyanidonickelate(11)

—

ﬁ;_,{cu&]}aﬂ{ [Co(C,0,),F HA R T EFe 2 7 2
' (i) SioEhE
(i) e wrh

(i) TR D T

(iv) Tt s B

(Co 1 T FHE = 27)

Out of [CoF,J* and [Co(C,0,),"", which one complex is
(i) diamagnetic

(ii) more stable

(iif) outer orbital complex and

(iv) low spin complex ?

(Atomic no. of Co=27)
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(ii)  MnO, ! §17 HC! % wre o e e 2 |
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@) H,0.H,S H,Se H,Te - gy o agd w0 A
(i) -HF. HCI, HBr, HI — T et & el T A
Write balanced chemical equations for the following processes ;
(i)  XeF, undergoes hydrolysis.

(i1} MnQ, is heated with conc. HCL
OR
-Arange the following in order of property indicated for each set *
__O~HJO.H 8, HSe, H,Te - increasing acidic character
_ (i))_HF, e, 1B HI ~ decreasing bond enthalpy

|
SECTION: C
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An element crystallizes in fcc lattice with a cell edge of 300 pm. The density of the
clement is 10.8 g cm™. Calculate the number of atoms in 108 g of the element.

-

Wﬁgﬁatﬂ:ﬂz g mol™) % 4% Terat (3w Fem wivw) w51 oo 271,15 K
2 | 5 T (M = 180 ¢ mol™) ¥ 5% Rrew =1 famies itapfera $ifr |
(e 2 - ¥ et i = 273,15 K)

ﬂ'-ﬁ% solution(w/w) of sucrose (M = 342 g mol™") in water has & freezing point of
271,15 K. Calculate the freczing point of 5% glucose (M = 180 g mol™) in water.

(Given : Freezing point of pure water = 273.15 K)
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TR (K) 4 x 107 Mg~ &, & NH, F1 wrefesrs &iga 0.1 M & 9 0.064 M EH ¥
e wwg @ 7

Ll

iti ati tion. constant
The decomposition of NH, on platinum surface 15 zero order reaction, If rate

(k) is 4 x 1073 Ms™!, how long will it take to reduce the initial concentration of NH,
from 0.1 M to 0.064 M.
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(iii) m%m@aﬁmﬁﬁamqﬁaﬁaﬁm% ?
_{,'r}""'. What is the role of activated charcoal in gas mask ?

ii) - A colloidal sol is prepared by the given method fn'ﬁgure. What :s the ;.traj]]g: Er:;
;Eﬂ hydrated ferric oxide colloidal particles formed in the test tube 7 How 18
represented ?
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_ () Write the role of 'CO’ in the punfication of nickel.

i ¥
(1) What 15 the role of silica in the extraction of copper - thod 7
— i methi .
(iii) /What type of metals are generally extracted by electrolytic

P
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(i) Mn,0, e & safs Mn,0, 3R |
' (i) Eu™* U wael 0= R |

3

i Give reasons for the following ;
(1}~ Transition metals form alloys,
(i) MnyOy is basic whereas Mn, 0, is acidic.

(i) Eu**is a strong reducing agent.
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write the structures of monomers used for getiing the following polymery. ‘

(i) H}"ll.,'.ln"ﬁ‘ﬁ
iy Glypat
(i) Buna-3

OR
CH,
(@) Ist CH, -é]—l } , @ homopolymer or copolymer ? Give reason.

L_{;‘i} “Write the monomers of the following polymer :
N YN
T :

i o

I (iti)” What is the role of Sulphur in vulcamzation of rubber 7
I - -
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(i) wiasfas
(i) HEH A

i) reTETd

(i) Why bithional is added in soap 7

(ii) - Why magnesium hydroxide is a better antacid than sodium bicarbonate 7

(iif) Why soaps are biodegradable whereas detergents are non-biodegradable 7
OR

Define the following terms with suitable example in each :
) Antibiotics
m;ﬁﬁﬂial sweeteners
Malgesms
m P.T.0
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(i) CucN
(i) CHCH,OH
i) K 3, cts with
‘f;:::t_e'f::u strictures of main products when bepzene diazoniuim chioride r=2
the following Teagéniss

(i} CuCN
(i CH.CH,OH
(xii) Kl

e ste kst 2 3

5 (CH),C-Br A (CH),C-T H 8 F 5,1 B

2 A1
(i) pATEEEEEST B Aol NaOH & #78 443 K e T T o WG AP #
T & Aot SR T EE
(i) W= 2~ o i S A g ol wrEa I wHT STEE G S
1 1 e we # 0
_,}(f‘ Out of (CH,),C~Br and (CH,);C-1, which one is more reactive towards Syl

~and why 7
411)  Write the product tormed when p-nitrochlorobenzene is heated with aqueous

NaOH at 443 K followead by aeidification.
hy dexire and {aevo — rotatory isomers of Butan-2-ol are difficult to separate

M tractional distitlation ?
Frfeafign o afier age it ;
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foﬂmmm reactions to show that apen structure of D-glicase contams

(D) Straight chain
()  Five alcoho] groups
(1ii) Mdehjude as carbonyl group

Pt sttt =) ol it 3

(i) @’CHG NACN/HC
: _ =

()  (CH.CH,),Cd + 2CH,COCT—

e

(@), CH, - Coop ) B/ TR RREE,
(i) H.0

SrepE
Fraferfis arfufimasii % R qamafs axfemo fHfe
(@) S ) 7 Ba(OH), 3 Aa sififa 1 9 @ |
(ii) mﬁ#ﬂ?ﬂzﬂmgmﬁcmmaﬁﬁmnﬁ‘rmiu
(ili) W=ATTE FAES F PA/Bas0, ﬁﬂﬁ:ﬁﬁmﬁmﬂmfﬁmmia

Complete the following reactions :

: ‘CHO ™ \peNHCT
E]} == ¥

(i) (C4HsCH;),Cd + 2CH,COC—
_,.,-"'-.
CHy
| coon )Br/RedPy
)ﬁr o (if) H,0
OR
chemical equations for the following reactions |
Eﬂtﬁw is treated with dilute Ba{ﬂ];l}z
Acetophenone is treated with Zn(Hg)Cone. HCI
{j‘::j Wy] chlaride is hydrogenated in presence of PA/BasO,.

11 B3 r10.
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(i) ﬁmﬁmﬁﬁmﬁiﬂmnﬁﬂ=ﬂm%l
i) zmﬁﬁ?raﬂmﬁﬁﬁaﬂﬁmﬂhﬁmm%:
(@) EEHNOy AN
(i) A HNO,

@) (i) HPO, 3 FIFAIT ifisfaran ferfes |
Gy XeE, i HEl izl =1 |
(o) Pt = T i -

(i) nﬁﬂﬁﬁmﬁsﬁﬁﬁaﬁwﬂﬂﬁmamm F, 7% T

SRR S |
i Gy SIS NGO, EBLO, T e A S E |
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(a).~ Give reasons for the following :
=3 ,'[I} ;i Sulphur 0 vapour stie shaws paramagnenc biehaviour,
L NEN band is weaker than B-P hond,
‘{’i_j.ﬂﬂﬁmm: i thermodynemically less stable than oxygen.
(b)“Wirite the name of gas released when Cu is-added 10

.U*ﬁﬁ? dilute HNO, and
e
__/w ﬂﬂm, B-}’.--
OR
() () Write the disproportionation reaction of HyPO,,
(i) Draw the structure of XeFl |

56/1/2 15




(h) ﬁ_mc‘-ﬂunt for the following :
(1) Mlhaug‘h Rluanne has less megunve electron gain enthalpy yel 'Fy 18
strong oxidizing agent.

(1) Acidic.character diacreasas from NoO; to Bi 0y im grosy! 15

2y  Write 2 chemieal reaction fo test sulphur dioxide gas. Wnle chie mici] eguaton
v Crlved.
- EER 2o = 5
& eren AR e e 271V E

Mg + +C0 ionan —— ME o0y m +CBisy
stfufrar 3 Rt B, wivwfn f1bm | forea Ty 5 e ey ferfiarmy o TR T
Terary e foer 2
@ 27ivawuak
(i) 271 V& e
g e
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X % Heive o ETTA T 1%%%%%%%7@ 2 e Y AT
ot Braife Zn 6w iR HE |
(HTeR FA Fo =56 gniol ! Zn =653 gmol 1, 1B = Qﬁﬁilf}ﬂmn‘i'J} :
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ME{E& i) cu2+|f!.l.‘|l. ) =3 b'ii'i: RN Ll : .
calculate B for e fecton, write the dipection of TIOW of curenl
pxtemal oppesite pmcnuu! applied 18
3y Ness than 271V e
."-}:'T greater than 2.7} b
DR
@ N cpeady cured! b 2 pmpetes Wis pugg_f.i dhrosgh b el ::m.‘ yhic l:ci.'l.i % and
X connected T SETIES contalning a’.i:.:tmlyms eSOy 7050 gntl 28 8 of
Fe deposited at the cathode of telt X ow tong did the current flow T Calculate
ihe Touss ol Zu i.'st:pu-_-il.i:d nt/the cuthode & cell X
(Motar mess ¢ Fe=0% ol ZD= 65.3 & ol AP E 6500 € mol )
() Inine plot of molar ZanductvIey (n) V8 g(uars oot of mmﬂn@ﬂﬂ“ € h
foilowing clrves are hiained ot W electrolyies Aand B
.
i
|
1._
i
k AnSWET the followine
\ Gy Predict the matare of clectrolytes A and B.
Giy What Happens O pxtrapalation of Ay 1€ concentration appmw:}‘ﬂng 7810
\ for elet wolytes A and B
1 } ¥
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(a)

(b)
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(B)
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How do you convert the following -

(i) Phenol to Anisole

(i1) Ethanol 1o Propun-2-0t

Write mechanism of the following teacion -

H.
S .

Why phenol undergoes electrophilic cubstiution MOTE cisily than benzent 7

OR
Acgount for the following -
(i) o-nitrophenal is mare gleam volatile thatl p-mtmpﬁ{:unl
(i) 1-butyl ¢hloride  on heating  Wvith godinm methekide gives
2_methylpropene instead of hutybméthylether.
Write the reaction invalyved in the following .
(i} RBi_ﬁlBFTiE-mﬂﬂﬂ reaction
(i) Friedal-Crafts Alicylation of Phenel
Give simple r_:he:micﬂl et 1o distinguish etween Ethanot and Fhendl,

e ——
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